
 

  

 

 

1. Complete the sentences with is/ are. Then colour the eggs. 

There ________ two yellow eggs in the basket. 

There ________ one purple egg in the basket. 

There ________ one blue egg in the basket. 

There ________ three red eggs in the basket. 

There ________ two orange eggs in the basket. 

There ________ one pink egg in the basket. 

There ________ two white eggs in the basket. 

 



  

2. This basket is empty. Draw six eggs, and then answer the 

questions. Use Yes, there is./ No, there isn’t./ Yes, there are./ No, 

there aren’t. 

 

Is there one pink egg in the basket? ________________________ . 

 

Is there one blue egg in the basket? ________________________ . 

 

Are there six purple eggs in the basket? _____________________ . 

 

Are there three red eggs in the basket? ______________________. 

 

Are there two green eggs in the basket? ______________________. 



 


